|f the square of the length of the longest B
side of a triangle is equal to the sum of the -

squares of the lengths of the other two .

sides, then the triangle is a right triangle. 7 z A

If ¢? = 2% + b?, then AABCis a right triangle.

Is it Right?
Consider

Because of the Pythagorean Converse,
the following two triangles. If their side lengths make t

oA s

we can check whether a triangle is a right triangle or not.

he Pythagorean Theorem true, they are right.

15 5
82 +15% = 172 92 4 52 = 72
64 + 225 = 289 4+ 25 = 49

True, so this is a right triangle. False, 4 + 25 isnot 49, soitisnot a right triangle.

Examples
Determine if the following triangles are right triangles or not. You must justify your answer. Diagrams
are not drawn to scale. ? ' ?
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5) Determine if AB L CD in the following figure
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